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Admin’s Q & A
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Question

If b;iﬁ\ <!y is one of these conditions then we insert < :

Conditions: _wdd X o) Ly debny b

- sz s - - -

Please explain which condition is applicable in the following ayah?:
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Answer from Admin (Admin’s answers are checked by our Shaykh)

The condition applicable is il The original sentence order is:
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%}\% is a fuame.

%p—ﬁﬁ% isa y>.

But the 2yah has brought forward the y& for WSS,

When the y& is ei\ﬁ for &S ¢ then fa> of b yid! & ¢ is prefixed to the
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Here are five more ayat that show this:
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